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3DSHU��0$����)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�
1 (a) 3.65 B1 cao 

(b) 2700 B1 cao 4�

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� �D�� ����� %�� FDR�

�E�� ����� %�� FDR�

$FFHSW�WUDLOLQJ�]HURV��HJ�������

$FFHSW�WUDLOLQJ�]HURV��HJ��������

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� �����P�RU�����FP� 0��

$��

IRU�����RU������RU�����RU������

�����P�RU�����FP� 'R�QRW�DFFHSW�QXPHULFDO�DQVZHUV�ZLWKRXW�WKH�
FRUUHFW�XQLW�VKRZQ����

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

5 (a) 350 B1 cao 

(b) 7.7 B1 cao 

(c) 320 B1 cao 

Accept trailing zeros eg 350.0 

Accept trailing zeros eg 7.70 

Accept trailing zeros eg 320.0 

4�

4�

4�
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3aSH��Ғ �0$���)�
QXe� WLRQ� AQVZHU 0aUN� 0aUN VFKHPH� $GGLWiRQaO gXidaQFH�

7 10 M1 
ସ

IRU FRQYHUWLQJ 1ଵ 
ସ

KRXUV RU ଵ KRXU WR PLQXWHV 

HJ. 1ଵ
ସ ସ
 KRXUV = 60 + 15 (= 75) RU ଵ KRXU = 15 PLQXWHV 

RU IRU FRQYHUWLQJ 1 KRXU 25 PLQXWHV WR PLQXWHV HJ 60 + 25 (= 85)

CRQGRQH DEVHQFH RI XQLWV LQ WKH ZRUNLQJ 

A1 FDR 

3aSH��Ғ �0$���)�
QXe� WLRQ� AQVZHU 0aUN� 0aUN VFKHPH� $GGLWiRQaO gXidaQFH�

8 400 P1 WUiWing 1 kg aV 1000g iV inVXfficienW ZiWhRXW iW 
being XVed in a calcXlaWiRn 

P1 

A1 

fRU finding Whe WRWal ZeighW Rf 4 blRckV, eg 650 î 4 (= 2600) 
RU 0.65 î 4 (= 2.6)
RU
fRU XVing 1 kg = 1000g   eg 650 · 1000 (= 0.65) RU 3 î 1000  (= 3000)

fRU VXbWUacWiRn, eg. 3 î 1000 ± ³2600´ RU 3 ± ³2.6´ (= 0.4) 

caR 

SC B1 fRU 2350 

4�

4�

5 4000 B1 cao 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� �� %�� FDR�

4�

4�
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
��� ��x� %�� IRU���x RH�

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� ������ %�� FDR�

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH��
�� ����� %�� FDR�

4�

4��

4��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

1 3 B1 cao 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

2 300 B1 cao 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

4 530 B1 cao 

4��

4��

4��
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

1 400 B1 cao 
4��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

15 80 M1 

M1 

Can be done at any stage of the problem 
eg 19.2 × 100 (=1920) or 0.8 × 100 

[length] must come from an attempt to change 
19.2 metres into cm 

A1 

for converting to cm 

for use of scale eg 19.2 ÷ 24 (= 0.8) RU 1920 ÷ 24 RU [length] ÷ 24 

cao 

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

26 37 000 B1 cao 

4��

4��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

18 10 000 B1 cao 4��
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3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

27 (a) 0.008 B1 May be awarded at any stage 

(b) 50 M1 

M1 

A1 

for 0.008 or 8 × 10௅3 

for conversion from km to m eg 180 × 1000 (= 180 000) 
RU��
for conversion from hours to seconds eg 180 ÷ (60 × 60)   (= 0.05) 
RU�
for conversion from km per hour to metres per second, 
eg 1000 ÷ (60 × 60)   (= 0.277...)   (Accept  (60 × 60) ÷ 1000  (= 3.6)) 

for a complete process eg 180 × 1000 ÷ 3600 

cao 

4��

3DSHU���0$���)�
4XHVWLRQ� $QVZHU� 0DUN� 0DUN�VFKHPH� $GGLWLRQDO�JXLGDQFH�

29 108 M1 

A1 

for 30 × 60 × 60 (108000 metres per hour) 
RU 30 ÷ 1000 (= 0.03 kilometres per second) 
RU  60 × 60 ÷ 1000 (=3.6 scale factor) 

cao 

3DSHU���0$���)�
4XHVWLRQ� :RUNLQJ� $QVZHU� 0DUN� 1RWHV�

5 13 M1 

M1

A1 

for the start of a method, eg. 2 × 1000 (= 2000) or 150 ÷ 1000 (= 0.15) 
or 1000 ÷ 150 (= 6.66…) 

 for a fully correct method,  
eg. 2000 ÷ 150 or 2 ÷ 0.150 or 13.3(...) 
cao 

4��

4��


